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lagr_asym_us_avg (ppb) 1D pull distribution
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1D pull distribution
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1D pull distribution
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1D pull distribution
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1D pull distribution
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1D pull distribution
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diff_bpm16X (nm) 1D pull distribution
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1D pull distribution
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corr_us_avg_bpm4eX (ppb)
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g_bpm4eY RMS (ppm)

corr_us_av
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g_bpm4aX RMS (ppm)

corr_us_av
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g_bpm4aY RMS (ppm)

corr_us_av
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1D pull distribution
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g_bpm1X RMS (ppm)
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1D pull distribution
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g_bpmlY RMS (ppm)
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1D pull distribution
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corr_us_dd_bpm16X (ppb) 1D pull distribution
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1D pull distribution

X2 / ndf

pm4eY (ppb)

corr_usl b

g g ° ° I & g 2
g g 5 0% 5 2
3 3 I o 3
o v o @ H
Hox S 4 4 2
s 8 s 3 8
e 8 8 R
8 K g g
8 o s °
3
S ]
g
,
2 -
3 £ 3 s 5 P
s 8 ¥ 3 2 & 5 ¢
s
§ ¢z ¢ & 4+ 5 & &
—
_
PR PR SN N T R T T A T S
n o n
N N -
[ @
L 2
o<
oge) o
—~ o
— <t
A —
) .
20 o
—/. °
™
~
°
.
°
<
.
Y
.
<
-+
o1
<
*
-
o
<
°
L
.
°
19
s
N
<
.
<
°
<
°
<
.
.
.
D
<
.
.
°
<
°
»
.
.
°
<
°
.
°
<
.
-
.
.
.
' I P - S S

600 —

400

200

0
-200

-400 —




pm4eY RMS (ppm)

corr_usl b

v'IE9Y
€TE9
c'TE9Y
T'TE9Y
0'TE9Y
7'0e9Y
£0e9v
209y
T'og9r
0'0e9Y
S'6297
'629Y7
€629
2'629Y7
16297
0'6297
¥'829Y
€829y
2’829y
T'8297
0'82¢9v
2'le9y
pT L2ov
0,29y
¥'929v
€929
[Ar4%14
T'9¢or
0'9¢97
€629y
2’929y
T'529v
0'Geov
v'veoy
€veoy
c'vesy
T'veor
0'veoy
ax4%4
£ecor
c'eedy
T'eeor
0€coy
&44%i4
X441
c'eedy
T'ceor
0ceor
v'Teoy
€129y
¢'Tedy
T'Teor
0’129y
€965
2'965Y
1965y
0'965Y

(wdd) sny



1D pull distribution
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1D pull distribution
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corr_usl_bpm1X (ppb) 1D pull distribution
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1D pull distribution
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corr_usl_bpm12Y (ppb) 1D pull distribution
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corr_usl_bpm11X (ppb)
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